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Two linear factors of x> —15x + 56 are 25 B nLnl Xt - 15x+56 | (1)
&+7), x+8) (D) &7, x-8) (O) x+7),x-8) B) -7, x+8) (A
Roots of the equation 4x* - 5x +2=0 are u_wjmﬁ 4xP-5x+2=0 =u- | (2)
Equal (D) Rational v (C) Imaginary & 4 (B) Irrational v Z(A)
«? + B2 is equal to . eqy 2 +pE 1 3)
| x+p @ (x+pF-20p © Frup®  «F-p W
Find x in proportion 4:x : 5:15 L x £ 4ix 5015 F 4
po o f® T ow
The fourth proportional w of x:y i VIW is e W BUZUl X1y N VIW (5)
@ xyv © 2 o® 7w
e AT b e (O
Identity =4V (D) an improper fraction /214 (C)an equation =i~ (B) a proper fraction /21 (A)
Point (-1, 4) lies in the quadrant ctnflA-1,4) B @)
v D m O I (B) I (A
Aset Q={;/a,b €ZAb#0} is called a set of ctbler Q={3/2,b EZAb#0] ®
Natural numbers s34 (B) Whole numbers s (A)
Rational numbers s (D) Irrational numbers s«i5t 2 (C)
£ s kA KD fle b Lo X FALC)
Sum of the deviations of the variable X from its mean is always
Twos (D)  Same el (OO One £ (B)  Zero H(A)
. adians = =gx = | a0
30° (D) 150° (© 135° B)  115° (A
Through how many non-collinear points can a circle pass ? o serSewd £ | AD
Four 4 (D) Three of (C) Two »(B) One -0 (A)
A circle has only one S - Sl 2K nLl | (12)
Centre J, (D)  Diameter » (C)  Chord 7 (B)  Secant g (A)
B ASS 68 57 A30° gsULS'//VJ;-{'/r’-:'—ufu:’s?fl?u&_//l:-{' (13)
Out of two congruent arcs of a circle if one arc makes a central angle of 30° then the other arc will
subtend the central angle of ..
60° (D) 45° (O 15° B) 30° (A |4
Tangents drawn at the end points of the diameter of a circle are  ——--eev - BV qusp LB L 1)
not parallel .7 (D)  intersecting #5(C) perpendicular »f (B) parallel $i#(A) | (15)
How many common tangents can be drawn for two disjoint circles ? &L 8w S ELusing 2
4 (D) 3 (© 2 B 1 W
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Q.No.2  Write Six short answers to the following 2x6 = 12 .df/ (FalzF Lty e Sils 2 A
Define exponential equation =y Jan-dued |1
Write the quadratic equation ,T':'i + "—:—1 = 6 instandard form & i "::“"1 + "J;—l =6 =i |2
Find discriminant of the equation 6x*—8x+3=0 ﬁ: I‘:"’ WiIG5/¥ 6x-8x+3=0 =bls | 3
Find the nature of the roots of quadratic equation 2x*+3x+7=0 #-r)"(ﬂiJgjjs;ﬁ 2x*+3x+7=0 =bl- |4
Evaluate (1-w-w") (-w-w") ér)”—-»’: 5
&t fL e AP FES S 3 11120 sbledan | 6
| Without solving find sum and product of the roots of the equation 3x’+7x—11=0 "
Define Rntio. ; £ / #-—‘1‘/;| S | 7
If y &« ;l- a.nd-y=4 g whcﬁ x=3 find x when y='-_-24 ﬂ“_,;:z':}%fr# X ;J'r:f}.—-__-e y=/é ly oC :T fl 8
Find a third proportional to  a’—b*, a-b &-b, a-b @ L |9
Q.No.3  Write Six short answers to the following 2x6=12 g&j.-:.l,lﬁﬁ?&;.mfg:.uﬂdi&» 3;“;}1:’
Define rational fraction _ &/ S/ |
Resolve into partial fraction (—x-:%% '{;% él.}-ﬁ L6z | 2
irﬁ'xny?*r:{z.a,s,s;}mx={1,4,7,9})’: 3
If X={1,4,7,9 }and Y={2,4,5,9) ThenFind XN'Y
g > BxA #AxB Jn B={2,5} sMA={1,2,3} /1|4
If A={1,2,3} and B={2,5} Thenfind AxBandBxA
Define fanction g lSe | s
Find a and b , if (a-4,b-2)=(2,1) (a-4,b-2)=(2,1) gl #b sia |6
Define arithmatic mean 6 &/ bosidl> |7
Find the geometric rean of the observations 2,4,8 E g hd L 2,4,8 214 |8
Find mode for the data 9,3,8,8,9,8,9,18 & ol L 9,3,8,8,9,8,9,18 iy |9
' Q.No.4 Write Six short answers to the following = 2x6=12 é—ﬂjagm,ﬂ"” Levrgae Lditn 4 A iy
Define angle of Elevation é - /1 J 2720l | 1
Verify the identity s‘—“%‘;’i” =1+tan® ~Si—“£ﬂ9 =1+tan® Zetfely |2
o0s 8
' G-60° i P 16 St KPR o T KL LT | 3
Find arca of a sector of a circle of radius 1 6 Cm ifthe angle at the centre is 60°
Define obtuse angle ' ' . &l e | 4
Define circumcircle of a triangle - #_«!/’TJJI:V‘I{L&?‘ 5
Define length of a tangent . g{..E}JJUJJU 6
Define Segment of a circle ) #...?;J.}l:ﬂ 7
Define central angle ' é'--&‘/'7 J—.'-"-;L”r s |8
Define vertices of a polygon ' &y Sl 2 |9
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NOTE : Attempt THREE questions in all But question No. 9 is compulsory
J
|
lf Solve the following equation by completing square 7x° + 2x~1=0 _ X +2x-1=0 gfd’;céfffmudsa» (A)-5
J Provethat x’ +y’ = (x + yXx + wyXx + w'y) . X+ = (x+ yx + wyXx + wiy) &b | (B)
&b . e 0l 516 < LI W2 Lol 314 2P )1 | (A6
If “2” is added in each number of the ratio 3:4 ,we get anew ratio 5:6 . Find the numbers
. A xZ+7x+11 x*+7x+11
; § 5 SR mINSLd, L AR B
| Resolve into partial fraction e seTen D)D) g{‘k"’t,ﬁ;/d,z ®)
i I .
| (AnB)'=A'y B' rgeitin B={2,3,5,7,A=1{1,3,5,7,9) » U={1,2,3,4,5,6,7,8,9,10} fi| (A=
f U={1,2,3,4,5,6,7,8,9,10}, A={1,3,5,7,9},B={2,3,5,7} Thenprovethat (ANB)' =A'UB’
Calculate the varianice for the data 10,8,9,7,5 ,12,8,6,8,2 10,8,9,7,5,12,8,6,8,2 & (P = St titn | (B)
_ . 1+Cos8 Sind ' 1+Cos Sing_ _ )
Prove that : o7 ~n veriha 2 cosec @ Sop T 1iCosd 2 cosecd =t (A)-8
‘.,Cf?’gjh’..f}‘/.:.vfm?nfﬁj MGG?»!’}(I/LQI)?LB 325 Jl».’:oﬂgﬁé{é.f'im (B)
Draw two circles with radii 2.5 cm and 3 cm . If their centres are 6.5 cm apart , then draw two direct common tangents
-9

f.t'nuf‘;}:ki,:ﬁl.!hi_f-i:‘.:g; (ﬂ.-‘-/"?ﬁ)}:gffa.f/.!:z_.fls : fg:.:.rl.‘

Prove that “ A straight line , drawn from the centre of circle to bisect a chord (Which is not a diameter) is perpendicular to the chord

or/L

“q..l:‘nl‘f»a.,.ﬁ};y‘;éa;.ﬂrd;}h:’wufﬂﬁ’gsl)d//ﬂb&.La/f"u’;u:;}h(f(" :fé».‘:c?

i
I Prove that “ The measure of a central angle of a minor arc of a circle, is double that of the angle subtended by the
5

corresponding major arc.”
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A set with no element is called P nad W A e | (D
SuperSet <rs (D) SingletonSet 2k (C)  EmptySet 2y (B)  Subset wrd W
The number of element in power set {1,2,3} g_amlﬁtfdb’ﬂf.:.-rnl;ﬁ {1,2,3} | @
. 9m 8@ 6® 4
- A data in the form of frequency distribution is called ' c‘:.t!}lefLFLp Jf:‘? W | 3
Polygon {uksut 2 (D) Histogram 2546 (© ‘Ungrouped data sirgs) # (B) Groupeddata s S (A)
ST” adiine & =Sk i’—r @
30° (D) 150° (©) 135" B 115° (A)
The distance of any point of the circle to its centre is called UGS p LW E T L | (5)
anarc 7L (D) radius 1, (C) achord Z5L1 (B) diameter A (A)
A line which has only one point in common with a circle is called B 7?55 Lo b Le 87 5L | (6)
Cosine of acircle Cosine €7 (C) Tangentofacircle ~ Tangent §< 71> (B) Sinofacircle  Sin ¥ s15(A)
; Secant ofacircle  Secant §<../i» (D)
> A, TR ST KL 1-g 60° a3 80T L1 | (D)
If an arc of a circle subtends a central angle of 60 , then the corresponding chord of the arc will make the central angle of
80° (D) 60°(C) 40° (B) 20° (A)
A line intersecting a circle is called §.I:‘ngfb't/"ff’fz_.z’b (€))
Boundary «»,~ (D) Chord 7 (C) ‘Secant 65 (B) Tangent W (A)
How many common taﬁgcnts can be drawn for two disjoints circles ? T EE_’._: g’ S = L Us s A2 |9
_ 1M 4@ 3@ 2@ .
An equation of thetype 3* +3°*+6=0 is a/an LT 434620 bl | (10)
Reciprocal equation =fsl-u/ /% (C) Radical equation dsi-(sie (B) Exponential equation =his(li=d (A)
| Quadratic equation =il (D)
If ,B aretherootsof 7x’'~x+4=0, then B is 2% B Iun Pl T-x+420 atiB o Si | (D)
' 4l7 @ 74 © al1® -1/7 W
Product of cube roots of unity is : | e AL A L6 | (12)
3M 1@ -1® o0 W
In proportion atb % c:d , b and ¢ are called ' Wb ¢ b Labiieid ot | (13)
means ¢2*s (D) fourth proportional 5% (C) extremes - A4 (B) third proportional -t 2 (A)
Find x in proportion 4:x :: 5:15 S x Ut arxii5i1s o | (1)
. 120 % © 4/3 ® 715/4 (A).
Partial fractions of EF% mo::hefonn , | i, f:' .._.,m,-__;/ Szl ——{x v (15)
| *%;5(9) A M, B A By
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Q.No.2  Write Six short answers to the following 2x6 = 12' éﬁj;yiﬂﬁgéaulr{aﬂ;dj@ﬂ 2;}Jlr'
Write the quadratic equation "2;4 ~ 2 =1 inthestandard form 2 Pdens "2;4 ~Z=1 cudon ||
Define radical equation &y i | 2

_ﬂ.}:"’ufgj)b’ 9%’ —30x+25=0 c::lsl/du»tjxd: 3

¥ind the discriminant of the given quadratic equatién 9x’~30x+25=0
. érPJ);;r4ﬁrJ:J£ Px’—qx+r=0 @'SPL;J)))JKJJ{J,&! 4

Without solving, find the sum and product of the roots of the quadratic equation Px’ - gxtr=0
&b dd «2 BZ Junsul A —5x+6=0 cil- BS |3

If & . [} are the roots of the equation 4x -5x+6=10, then find the value of x? 32

Form a quadrstic equation whose roots are - 2,3 : I 2,3 Sl e biziteEan | 6
Define joint variation . g....g/".J,éTJ};’ 7
Find third proportional a’—b’, a-b a@-v',a-b £ (et A 8
If 3(4x~5y) = 2x~ 7y , find the ratio x: y : E P xty =T 3ax-sp)=2x-7y S1 | 9
Q. Nd. 3 Write Six short answers.:o the following . 2x6=12 cf‘(x/_«w/"'&...‘wr;.:_dd;z,» 3/:’?‘)!:’
Define identity - ' : : &Sl | ]
Rf"-";ol\r‘&' the fraction ﬂ_—iﬂi into proper fraction | S gl x—"—xffsx—ﬂ 2

[ (AUB)* Aanf SE =t A=(1,3,5,7,9} ,B={2,3,5,7}, U= {1234567 8,9, 10}; 3
If U={1,2,3,4,5,6,7,8,9,10 },A = {1,3,5,7,9},B={2,3,5,7} then verify that - (AUB)" A’nB’ _
Define intersection of two sets . St PIBE L s | 4

. ékbzd&:df LxM ;M':{d,e,f,g}JJ[L:{a,b,c}Iﬁ 5
IfL={a,b,c} and M={d,c,f,g} then find two binary relations in L x M
__ _ & (* Range . Domain ¥R J R={(2,4),(3,6),4,8)} V'3 |6
Suppose R=1{(2,4),(3,6),(4,8)} find (i) Domainof R (ii) Range of R
Define class limits in frequency distribution éhg’ Y4 Lz;,ﬂds.yéf-j- Saad | 7

Find median of 2.3,2.7,2.5,2.9,3.1,1.9 23,2.7,2.5,2.9,3.1,1.9. & bsbfitn | 8

12,14,17,20,24,29,35,45 & r bl ey b boisty | 9
Find arithmetic mean by direct method of the following data 12,14 ,17,20,24 ,29,35,45

Q.No.4  Write Six short answers to the following 2x6=12 | gf{f”ay}?ﬁ?&amr@;;xaj@ 4 ;‘.'L)lr
Define Quadrantal anlge _ & Al |
Find “r” when € =4cm , 9=%radjan ; f=d4cm, 8== rad:an ,.5‘..5"_{":!” “r"l2
Prove that Cot 8 Sec 8 = Cosec 8 Cm@ Sec 8 = Cosec @ S22 =it | 3
Define Acute angle 54/‘7&:;0”& 4
Define circumcircle ' & v S| s
Define length of a tangent | ﬁ-nyJUJJU 6
Define Circum Angle A A
Define perimeter . 5-&’/‘7 Jser | 8
Define Diameter ﬁ_g}d’ “/53' "lo

’ PGK . jo- 2 -1&
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NOTE : Attempt THREE questions in all But question No. 9 is compulsory

1oy

Solve the equation X' —2x~195=0 by compieting the square

Sl I K 2x-19520 e | (A)-5

un';—c ‘ *?E J;J&f&;&&l:b&l?dﬂ&»é X2 —3x+6=0 =hl~ B, /ﬁ (B)
If &, f are the roots of the equation x* ~3x + 6 =0, form equation whose roots are % ¢ E-
.| _ 10nP ﬁi#;}-Jm+5n+m+5P 'm’—/s)b‘r"u“v""w!v‘,;ﬂp (A)-6 '
T P = 0 mssn "t mesP o R *
5 10nP
Using theorem of componendo-dividendo find the value of LA sy If m=—
m—5n m—5P n+P
; : ; 1 1 _
Resolve into partial fraction oD D) DD é;}:‘i‘_ﬁj/wz (B)

ifA={1,2,3,4,5,6},B={2,4,6,8},C={1,4,8} Provethat AN(BUC) = (AnNBXJ(ANC)

ANBUC) =(ANB)UANC) 1 & =t C={1,4,8),B={2,4,6,8} , A={1,2,3,4,5,6} J (A7 |

Draw two circles with radii 3.5 cm and 2 cm . If their centres are 6 cm apart , then draw two Transverse common tangents

;}:-::'JU’L"J?JJQAH;Krﬂﬁ J-"GGL/;:F’?/I/L.UUGQH f21)|(“3.5 Jlu.’:.c/" ,v-" LomFl3ss ‘ (B)

e s fu/ S 60,70,30,90,80,42 LELLuHF g | (B
The marks of six students in mathematics are as follows. 60,70,30,90,80,42 Find variance
Verify the identity Tan 8 + Cot @ = Sec & Cosec 6 Tan @ + Cot@ = Sec 8 Cosec 8 f‘g..{.:.ct‘f.;‘fb" (A)-8

Prove that perpendicular from the centre of a circle on a chord bisects it g;.b/—-i.r"’-d,u"J)“J;}’Lf(a—f/éé-f"J :fi..—.ct‘

OR /|

{ Prove that “ The measure of a central angle of a minor arc of a circle is double that of the angle subtended by the

| . . r
| corresponding major arc.
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